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SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
AHOH & 474,648 284,397 190, 251
AOHS 29 405,181 196,333 208,848
AFOH S AP & HI 405,181 196,333 208,848
ARAEFU=JAAY 50,000 50,000 0]
401 Al HIL 201 50,000 50,000 0
01 Al bl 50,000 50,000 0
OALAZFU=IAANY 50,000
AAsddl 29 5,939 5,939 0
301 dEtEAZ 5,939 5,939 0
04 tsLEHUHISHH] 5,939 5,939 0
Ooxsddgi 29 5,439
OF Al I 2,500 *29 365 1,825
g 29 3,000
SIS 6,000& x12& 72
A 2| 392,000& * 104 &~ 392
xA2el X (1HA) 150,000 * 1 & 150
OXsgtgdiag9| 500
ScletdE 29 64,170 64,170 0
301 dEtEAZ 64,170 64,170 0
BbSHE-01&-ctEes243 64,170 64,170 0
Oscl&dagse2a3 62,320
=g 200,000& x19H x12& 45,600
a2 200,000& *19H *200% 7,600
o EH Y 20,0003 19 128 %23| 9,120
Oert&Eg AZ 25,0003 *37H 23] 1,850
A7 DHALK A 10,060 12,060 A 2,000
301 dEtEAZ 10,060 8,560 1,500
09 HALAHIEA = 9,060 7,560 1,500
OMAUMEFUHSE L ASSHA 3,500
oHoloy 1,500
OHoOIEZU3 500
O1AHTE AL 1,000
O=&tA 1,000
O0IZ(2R) M=sUs 40,000 =19 760
OJIEFEH AL 800
11 IIEtE &2 1,000 1,000 0
OsAHXA 1,000
AFOR S A AF2tE 271,512 64,164 207,348
101 2124 d| 11,037 10,842 195
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M AHEH

o WS BY

eel: §§§§u| (ol &9)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
03 I HLs22 N 28,487 26,909 1,578
OgREX(1H) 28,487
CJlE2 1,088,890& x12& 13,067
&3 1,088, 890& *400% 4,356
wSEXH| 120,000& = 12& 1,440
gAY 130,000 x12& 1,560
Aol 2R sg
7,818 x15A| 2tx1 50« 12& 2,111
HESIHHI(E,5=4) 1,088,890& *120% 1,307
O AbH| 62,544 x10 626
2E29(304) 3,540
NESL (R 1) 40,000& x12& 480
Jl=2&tl 40,980 61,155 AN20,175
AFOREH D123 H| 40,980 61,155 N20,175
201 et A | 7,400 23,275 N 15,875
01 AFR2 2t 2l Yl 2,900 18,775 AN 15,875
O8RY Nez=22+Y 25,000& x116L! 2,900
02 33249l 4,500 4,500 0
(OPNE=i] 4,500
202 (4] 21,000 22,800 A 1,800
01 2L Y] 1,200 1,200 0
O=2W bl 1,200
02 MY 19,800 21,600 A 1,800
O& A I 150,000& »12& * 114 19,800
203 & R =& 10,080 10,080 0
01 J|22H L RF=AH| 6,600 6,600 0
OHZE 6,600
02 RIS R = XIH| 480 480 0
OFAAINMARFEY| 40,000& =124 480
04 2SI L RF=AH| 3,000 3,000 0
ORANEELERFAH| 250,000& x12& 3,000
405 XH&kE S| 2,500 5,000 A 2,500
01 AL =2 EF SHI 2,500 5,000 A 2,500
OolALZE ZelH 700,000& = 1CH 700
O0l&saMbIH 350, 000& =2 H 700
OZ2 A MIE D] 700,000 *1CH 700
OAIR 23 At 400,000 = 1JH 400




